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TestSlot Shift1 v
Passage:

Hoha:~- el meiet ufden yu fasaema: Shaarr Sw A freal

UHAT SR SR - e e fafen e e
VAT 20 | 51 G T T G | U O O T e e e
T T2 | | T ST FISTF 7 FISE 2 FITE 2

: Faferna S e | A A S A, F aga
1| Tl AT 2o ST T2 |

A0 S ATHE Wfd AT | AN W FEE Tl o
SRR S AT AT R e ST T | 6 A

c 3

AT W4 T FIEE 2 FISEE 2 FIEE 7 AT T4 Aq O T WEA
eft 24 | . AV TR | AV TR FeAmA 7 AT |
AaET: 301 T W 30 | ATHIE SO I T ST | ¥ 3R
T qa: e |

Q.No: 1 4=a=iR: H&I T Yl del1 URIET SR

A Eocaall
B bzl
c Esis
D Al

Correct Ans : B

Subject : Sanskrit Bhasha 02

Passage:

e NG TRl ufdwn uy AT Ra: Sfiaa W i el

TR T S - T e fafm e e
VAT =0 | ST G IFA T G | W T O T e s e
T4 TEAM | | T4 SR FSEE 2 FF 2 FITF 2
1| T AT Ze00T ST 7 T2 |

S S ATEE T AT | AT W FEE Tl o
SPRETIRT ST J A Ghe a7 TG Faiag: | 67 A

o 5

AT W4 o TR 0 FISEE 2 FTE 7 AT T A O T WA
et 20 | T: THeAVT T | AU FeFRREdv HeA = a7 AT |

IR THARITATT 3 | AT AT e | 0T T O O
HAET: 3 W 9 36 | ATIZE 3 9 A A9 | U IR
e qa: ez |

Q.No: 2 ¥: UHH UG W HiaRA SERaar?
A UFHARY|

B fearm
c BarqI
D TIERAI
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Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

Tbe:— N TR ufdr wumi fAseaemRa: Ifdam Iw i Rl

TR SR SR - e e fafEe S e

PAVAT 20 | 51 T TR T A | U R O T4 e e e

T T2 | | TET: ST FISTF 7 FISE 2 FITE 2

1| T AT S0 STt T2 |
T}Tﬁﬂﬂ?:WWﬁm:IW: A FEEE TR W

TFETHRT U0 AN e T 36 IREME g | T A

T Wt W FISER 0 FISE 0 FIKE ¥ AT T Ad O T WEA:
eft 24 | W AV TR | AV TR FeAT o A |

IR THTHRTA" 2 | A7e: v Efaaea | T T4 TR O
ToeT: 300 9 WA 30 | ATHIE SO I A A | W 3R
THIF qa: o |

Q.No: 3 YHEUURT YIIR: JareT ARG IUfay: - 36 fadiourad fbpe
A Y|

B &

c HETURT|

D Jufae:|

Correct Ans : C

Subject : Sanskrit Bhasha 02

Passage:

Teba:— feNfafed e ufda@r v fasearamka: Ifadany W faa firaal

T A ST - T R e e e
VAT 30 | 516 G IFA T G | U O OF 0 e s e
T T2AT | | T ST RIS 7 FIXF 2 FIFE Y

T Tatent 3o T | F a T’Wﬁ T T, A A
1| TR AT Se0T ST 3 T2 |

S S ATE TG AT | AT WA FEAT T
TFETIRT YA AN a7 G Ja IREE g | T A

o &

PR Wa: T TR 2 FASKE 2 FITE 7 ATG T4 Aq T T WA
eft 24 | T vt T | AT SRR Rl a7 AT |

AW TP 30 | A7e: A0 (ai-Aaen | JT 9e=e O o
foee™: 31 9 9 3 | ArHEE SO I T AEd | 3R
i qa: e |

Q.No: 4 Y[&: 3fdcq - AHENIE A PR Ui aRadad|
A F: Teq

B & aiewafal

c [F: TEg!

D @ M|

Correct Ans : C

Subject : Sanskrit Bhasha 02
Passage:

b~ e e ufdar uur fasedrama: Ifadany 3w e feraal
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T SR SR - e e fafEee S e
FAVAT 20 | 1 G TR T A | U R O T e e e
T T2 | | T ST FIKF 7 FIKE 2 FITE 2
1| T AT 2o STt T |

A= S ATHE Wid AT | A W FEE Teeid o
Wmmﬁ WY e G Jae R A | 9 A

mﬁ‘m W ’aH)t«h "«H)(’J 2 —HB{’-{‘ r WWTWQ‘J « UHTAT:
Teft Zfd | @ w&mmmﬂmmwm AT |

T AT MT?WIW“HTWWHT?@}W
TAEH FAPRITATT 30T | A7ee: &0 (Ai-AaeT | T Te OF o
I W: A, "RAE, WAE IOE 3 | T A9 SRR R
TAET: I | W 3 | ARSI IE: TR ST | W RN
T da: o |

Q.No: 5 TS IR A - HH TIFHGH?

A &I
B Fer gl
C Eeireat]
D THH|

Correct Ans : D

Subject : Sanskrit Bhasha 02

Passage:

G- e TRt ufdw@r wumi faseaermara: Ifraaar Sw R fraal

TR T S - T e fafm T e
VAT 30 | S G IFA T G | U R O 0 e v e
T T2 | | TET: ST FISTF 7 FISE ? FI5TE 2

e Tt S T | A S A, F g
1| TRy AT Ze00T 1 3 e |

S S ATE T AT | AT W FEET T i
*m*'mm*rmﬁ TR A W JET TRAAE g | 6 arEE

PR Ta T FIKE 2 FIKE 2 TITE 7 AT TG AG O T AHA
et 3 | T vt T | e TR Rl 0 AT |

TF: SR "SR] S A | AT I qa T A 0 e
“WF]TWITFfU'JTW‘ ’fFTIW ammm?mm—mmmrqmm@
ﬁﬁ"«-‘w: WHW’T%IWWWWW armllfn?wreﬁ
i a: freea |

Q.No: 6 3TER: RADR: AT 1ovvevvrrinrenns ERIEG]
A Ricdl

B 3|

C S|

D el

Correct Ans : C

Subject : Sanskrit Bhasha 02

Passage:

e SreNfifee el uf@n uyHi e a: 3fdaard Sw fur foeal
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T SR SR - e e fafEee S e
FAVAT 20 | 1 G TR T A | U R O T e e e
T T2 | | T ST FIKF 7 FIKE 2 FITE 2
1| T AT 2o STt T |

A= S ATHE Wid AT | A W FEE Teeid o
Wmmﬁ WY e G Jae R A | 9 A

mﬁ‘m W ’aH)t«h "«H)(’J 2 —HB{’-{‘ r WWTWQ‘J « UHTAT:
Teft Zfd | @ w&mmmﬂmmwm AT |

T AT MT?WIW“HTWWHT?@}W
TAEH FAPRITATT 30T | A7ee: &0 (Ai-AaeT | T Te OF o
I W: A, "RAE, WAE IOE 3 | T A9 SRR R
TAET: I | W 3 | ARSI IE: TR ST | W RN
T da: o |

Q.No: 7 HISTF - 3 WAwS Fod |

A Bl + TP
B F: + G
C B + AP
D Ft G

Correct Ans : B

Subject : Sanskrit Bhasha 02

Passage:

Goba:— e TRt ufd@r wumi faseaemiara: Ifraaar Sw R fraal

TR T S - T e fafm T e
VAT 30 | S G IFA T G | U R O 0 e v e
T T2 | | TET: ST FISTF 7 FISE ? FI5TE 2

e Tt S T | A S A, F g
1| TRy AT Ze00T 1 3 e |

S S ATE T AT | AT W FEET T i
*m*'mm*rmﬁ TR A W JET TRAAE g | 6 arEE

PR Ta T FIKE 2 FIKE 2 TITE 7 AT TG AG O T AHA
et 3 | T vt T | e TR Rl 0 AT |

TF: SR "SR] S A | AT I qa T A 0 e
“WF]TWITFfU'JTW‘ ’fFTIW ammm?mm—mmmrqmm@
ﬁﬁ"«-‘w: WHW’T%IWWWWW armllfn?wreﬁ
i a: freea |

Q.No: 8 T: JUBR WP Ta: MRS - o Tox & Hd TgEH?

A Fer F
B U Bl
c H Fal
D AT Fd |

Correct Ans : C

Subject : Sanskrit Bhasha 02

Passage:

e SN g™l ufsa@n uymi e mv: Sfiaaay I faar el

Pt & @ vgwi,
ofd | TR wRiefd
PRV g TR g,
P SFE gRaASRE|

Q.No: 9 'Tpwfy' fharueH aifr?
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SIAGEE
AT

Correct Ans : A
Subject : Sanskrit Bhasha 02

A
B AT
c
D

Passage:
Toba:— steffafad wernst ufdwar vy fasearamae: Ifadamy 3w fuan forad)

PR & @ vgwf,
ofd g TR e
PRV FIE 79 g,
Py TR RaREf |

Q.No: 10 'TRIIRT" R Weg F1 faufaa: s

A gt
B Lt
c fditar
D awH

Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:

G- el vert ufewn wum fasearasasea: Sfuqary s fuar firad )

R & @ v,
ofd g TR el
SBRUGHN AT T4 9,
S gRasRfd1

Q.No: 11 ‘Ifeeq' ¥ e & UAT: 3f&i?

A Il
B a0
c TH
D 3%

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

TFa:- AN eIl ufdar vy RFaaesea: ey Sw R frga)

ik R @ vguf,
Yd F T e
SHRUGN HTE 7% 9,
$Y S gRawRwEi

Q.No: 12 'SFRdH' Tad wiafaeye: sifta?

A W + @Y
B S + T
c S + W
D S +

Correct Ans : A
Subject : Sanskrit Bhasha 02

Passage:
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Heoba:— SfeNfeiRad TRl ufdar WMl fdbearard i a: Ifdanar Iw A forgal

RftrgRed & 3 v,
ofd T T RitEfal
SBRUGN T T 3,
% ST gRAsRf1

Q.No: 13 SfRF wiF i o5 vga: offkr?

A I TS
B wIfRr
C TRRT
D qIR

Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:

Toba:— Hefifiad werst ufewn v fasearamaea: Ifaqary Sw fuar forad)

RftrgRe & @ upw,
yd g qE wefal
HSRUEN AT 74 3,
T SR aRaRE |

Q:No: 14 veieraR & o Sy 3 7 aRamRsfi?
A T: HRUGAT: T

B : 3y et

C 1: FAftrmfewa vpwfd @

D g; gdar gEt Hafa aq

Correct Ans : C

Subject : Sanskrit Bhasha 02

Passage:

Tha:- NI geri=l ufd v Reaamsiakea: Sham Sw R fradl

R f§ @ vpaf,
yd T T ik
SHRUGR TR 7§,
$ ST gRaSRfdl

Q.No: 15 'wHpwfd o Iuw: S -

A L
B u

c T
D T

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 16 Tl 7 fausl 9 Hum UHwuar Txaa?

A S
B oy
c TSR
D e

Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 17 & aremgsaf?

A
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o |H At

B XW: YT 98 e T
c o @ 99 aR: HafRr
D T TR g=af

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 18 ety wared uRad=m |

g i gt et
A Ty et g et
B g fcd gt it
C T et g i
D e g iy

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 19 '3p-guieg Hia Ngr?

A B
B LIGR
c SER
D ferifer:

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 20 Weg: Iuqh: Hiq Haf?

A T

B SHETERT

c uefdwfa:
D gfdwfa:

Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 21 T 0] XU-fI&H0r: 7 Sraa?

A *qTfeTor
B sreeor
c Fereateor
D afemor

Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 22 Hf¥q aTd: Y@ Td HIwi SHRFTHf, TPV STawadHal 7 Hafd | o F: Rigr: ada?

A arifasamn: Rigra:
B 33 Rygr:
C iaamar: Rrgra:

D e R
Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 23 UGN JuT: Hafy--

A qad:
B b

C fora:
D H

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 24 fweafdiimraw & Feafd -

A
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A =T, gaT fpan: faer: JwHafa
B e e =i, e Rig: Rifdrg goietn ol ©iedifa

c Ts T, Ui ST e ORI WA A ol ur: W o Seats

D R e , gaT FeanT: TRy Ted

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 25 ffiaaeman: Riféme HenfRaaw™ T sfEadd | T SHET TFHdasgiy: U8 RfEaeeami Se=RiIs gl 4wl | whfad rf ol Gae siwafa--

A AP
B YA
c TR
D AR

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 26 TWEI Nichal-SUNH™A (Process approach) TeaH 3if&i-

A Fad i

B et ufkom

c Iy ufsarat aikom 9
D GREKIERIANT

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 27 gdarfafafd: 3 TERR: skt

A BET TS

B LIERIECOE|

C SFEHEHR STHAFT I
D EGENEAE IR R L]

Correct Ans : B

Subject : Sanskrit Bhasha 02

Q.No: 28 TFHT HeATIDT TIPS DTS T THHUAG T ST Yot | R Hriva gearg1d & waifid mewaqui 2

A T T T FurmEh, SR Aot areRufgHe 9
B T s, TsIeaTaht, TEHINTET: 7

C fer TRt IRITRRU

D FE-ES-ga%: g&ie: e

Correct Ans : A

Subject : Sanskrit Bhasha 02

Q.No: 29 HTSIRafeh: BEAIUN QN Y=Aq
A ElERIEE RSt

B T HRgu

C ST STy

D SRR A
Correct Ans : D

Subject : Sanskrit Bhasha 02

Q.No: 30 FIUTIREAHR THHTS 4aq

A STy
B HTYFIP HRTTG HTST

(o TRTHTST 37yaT TSy
D fowduran

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 31 Rigur & H7gR W&

A EXY-9 YeaD A
B T Y Wea® A
C T T GeR® 9t
D Y-S U A ¥ Wrdt
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Correct Ans : C
Subject : Hindi Bhasha 01

D

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 33 T wR W g5 31 et Rien & g A Pufafed & F FF-w1 w7 o &2

A
B
C
D

FUR T T R Pt I @l Rl 7 e snarg @ a9 7 o/efl Som 8 god ®

T WS HIST-URar F g ofR e WU F Ui F g o ot

T T BT SR SR TS WRarel ¥ Ay e o &

el @ uISI-Sepeael 3R feraa ¥ vaftr uro aikds A R €y S J weEe ST

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 34 y11 Ruefor & SR SfeaTye R Bar A fbu 0 dafdis ara @) bea €

A
B
C
D

e A
3H7es =
SR A
IR dra

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 35 =il I AHY USH Y Fed 82

A
B
C
D

R w1 1 7= o

o et 1 o w2 o § R i e §
T <rsal 1 orf = WY ©

o7 wrect 1 TRINT o= I §

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 36 3 & ¥ Higar-Riemr o1 3exg 71 §2

A
B
C
D

A Heg Wit BT e

Faa TR FARAG

Faa SR & e

P Wiaa B e, TR A 1 RN @ TR TS

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 37 P & | HIW 1 AURYH B &1 e} 87

A
B
C
D

R F=
Fad v
EzcEis
Saw g

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 38 3/ # § wrpumr-Rieor 7 W siftroafd ¥ e usfd 3t sioamadt 2

A
B
C
D

| uSf
ST Tl
it wfa
sfeed Ul

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 39 = & § fe=ft v forw oy & WG @ 2
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BRH Rty
et Rl
TEgE fof
Yt iy

Correct Ans : D
Subject : Hindi Bhasha 01

O 0O W >

Q.No: 40 UTST WHINUI &1 WeH ¢, A § ff +ft 1w & e T9 &1 vea wdifie giar 2, Frafla & § o9 uw ot 0ike sifterfd & ueRri § aftifad T § 2
A qrafam

B FEF aET
c arg-faarg
D ae-fdare T e

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 41 SI®! B aaA ST g 39 1 Y UaM Sl [ R ..., G| BT ARV TR FF |
A B
B q=
C T
D LS

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 42 Wrifde &R W a=l @t U R & def § Fafafed § 3 SH-a1 $UF 3d 82

A T B W epeaTrell SR freer ¥ waf i aRkd # Ry € v e & weme g
B U1 & T R B I arelt Rewfin 7 Pdie srpara 3 gt § ol Saw 8 gedt §

c T HTST B W 3R Wy Rt F Y e om €

D T G UIT-URAT & e ofR wad: w U § e ¥ vimrei wR it

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 43 f3aery oM & qd &=3?

A oft rnalt F qof qera v €
B YIS & SRV Bl T TH T §
c 19T &7 faepa ff 39 T @a

D ST HT ¥ - 3 e § 9 B

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 44 {59 firar & AR WRTa & BESH BT &4 g S 87

A e =t iy

B T 1 SR R
C ufugser

D aRusar e W 3 Ry

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 45 Had HIIS-URIa wirdl gRI SiweH-

A e B Wit R A R

B Y eI T G WE Ral §
c PRR i 1 GRIT YeH Bl §
D Yo 3iba B Igd 941 3aT 8|

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

= 9 e e mRiw 9 ygaR g e Ul & e I ek 9 fawed @1 99 Sifere-

# o/ R 4 eeht f, 95T Hod ofred 9gd WAk 9o @1 f| TP & I 9O O Sl F=1, S WS ¢ Wi A HH PR, W HE F ol &7 Frn b 7 qme y@ e o S U9T i 98 3O @ 91ed ©
CHS| T SR F P, P2 O I qou [ A T B Iuwt a1 7 o I ¥ N A werwan F R I v vsg AR S, el B oH w F w5 3on IR 3o UiN aredr & J1 7 9% SR g
I AR gt i, o, PN o T O o1a A0 B ol T U 3 TR, IUD T5 A1 FI W30S B Wa SR IUH TM 4R I A1 30 73 B 3901 R i a8 ff T 4k, AR A S TR H emaw u
Ry 7 o ok 93 & IR @ & Ty A% FT A9 HYaT X611 H IV FAH BT 31 < fan 3R IGHT A1 TN T TS I3T11 I 943 F PR 1 @1 et I 7, A H7 399 R fy a1 fam) e 39
J TN T R Y R Fn St s el Tarell & T R o, R I PR N R TR [weit F T 2RI
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Q.No: 46 IUYF Tl F ITER, ‘Fe TR’ § 'S’ Weq o 3R Tape Feell 92

A Fag 5 T

8 or Ty 39 B I3 &I I3 Bt Sired o

[o TR F1 95 TG R Tt AT $I Io4 31 3mgd Ui

D IR FT 98 TG 1 59 ARDT ) Io7 I airgd T A

Correct Ans : C

Subject : Hindi Bhasha 01

Passage:

w9 A e TRiY 9 ygeR g TTE U & 9ad Ifd SaR 9 fawed @1 99 Sifen-

# o/ R A et &, 95f T8 oied 95 TR SoA 1 A1 TF A I TR OF Siel =4, W WG 3¢ TN A HF FT N, W FW F ol T3 Fren 7 a8 2rae 4@ g ok SO 99T i 98 3O @ 9T @
YIS B e ¥ FEl, IS 99 I o 5 A wrE B Sue ara A o ¥ @ A A wera F e SuR v ey ok Siiey, Nafenl HA oA v | Wi % 397 TR oo AT Agat @ 1 2 U7 SRR 9
I f5e gt i, o, BN o T O 91a WO B o T | U 3T TR, IUS T8 A1 FI W S B X SR ITH TM 4R 3 A1 30 793 1 39u1 R i a8 o T 4k, AR A 3% T H ameR o
e 7 foan ofR o8 9 IR @ & T I T SaoTR Rl YTl A I At ol 1§ R oik ST 351 TR § w3311 I oS F AIHR B X A Wil 7, o 77 I R R &= o i 3=
J ITE T1 1R TE IR 11 Iqt a5 et Yol & I kel o, ok S P B e TeReR Y@ish F 71 2Rl

Q.No: 47 IYH TR F IR, “TF A U5, 1 HTet WR 3/ &} o SR S W7 WR I A A BT I @ Ty 32

A Wi~
B ARI-GA
o g T A1 BT TS T69 1 U1l
D € 1 T & 9 HiE BT Ul

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

R AR T T TR 3 geaR g T WAl & a9 Sfd SR ard fAwed B 997 Piig-

B o R 8 X<l R, 67 I oned g TR FoA @1 B TF A I IR TF Sel G, N WS 3¢ T F FH BTN, W FW F o H Jran 75 95 e @ i iR S99 It i 98 $© 9 el §
"1 A o & g, @I O I qoT 5 A wmg & Iuat ara A o 7 @ A A Tera R IR U e 3R S, CefST) B oo m ® O i g Uk 3o Ui 9rea @ @ 2 9 iR @
I f5e T, e, of, BN o T O 91a WHH B o T | T o U, ITD T A1 HIS W3S BT X SR ITH TR 8 A1 39 993 31 39o1 R i g o 1T R, AT A S Y H e o
Ry 7 o ok 98 & IR @ & Ty W% BT Sa9IR e el H7 I HAH B S A AR ST AeR1 TR F A Io1 I oS F PR Bl ¥ T e v, A 7Y 39 e fy 0 R f 3w
J ITE 1WA TE R 18711 ITHT a5 Aieft Tl F 11 1R R, IR I P B g deRer Y@l # a1 4R/

Q.No: 48 IuYar TR & AHTER, T & P A 3 | ARIST A 7 G

A T TG e

B ol o AT Arear 81

c U5 AfEHT B AW T WG @ G R I e S W A B
D o ST & AR H AL T T

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

= =9 AT U RIS #Y UgeR O T U & e 3fd ek ai fawed &1 99 Sifore-

# o/ TR 3 et o, 95t W8 oied 9gd TR S 31 R TF A I TR TP Biel T4, W Wg 3¢ TN I B PTG, W B F o) T3 Fren fF 9 e y@n e ok SO 9T i 98 $© G 916 ©
“HI1” B A | FEl, ‘DI 9 39 qow 5 I Iy B Su@t a1 e off W R O A Werar & e Sun @ g ok S, efen)’ B o T B Wi % 3o IR o UM IRar @ |1 2 9% iR @
3IG4 R g, T, S, P13/ T O 91d THS B off TS| T 37 U8, IUS! qgH A1 ST W (S HT WG FHR I T 4R I N1 39 71 31 391 R 6 98 ot 1wk, WA A 38 TR F s o
Ry 7 o ok 93 & IR @ & Ty HF BT STOR a1 a1l H7 I HAH B L o Ak SuwT Y71 TR VTS Io1 I oS F PR Bl ¥ T W S, A A7 39 R fy a7 Ran R 3w
J ITH T WRAT & o {311 IqDT a5 ieft Warell F 11 2Rc R, SR I P B avg TeRER Y@ F 1 2R

Q.No: 49 ITF TR F STAR A HUF HI TG HIo1T-

A ot & =3 @1 T el Ysh & o At ot

B oy o o 7 -t THIRT & SH T HRAT I fam am

C T P! oA 1 PRI TR 7S BT X SIS SUH 61 R @ 2R

D T Y i o1 faRiy forar ofR 9 8 & arr e A & ool @eTs i

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

w9 AT g RiY 9 UgeR g TIC U & 9ad Ifd ok 9 fawed @1 99 Sifor-

# o R A et &, 95t T8 oired 95 TR SoA BT A1 TF A I TR TF Siel I=, W WG 3¢ TN A FF F7 g, W FW F ol 3 Fren fF a8 2mae y@n g o S99 g9t i 98 3O 9 9red @
YIS B e  Fel, ‘IS 9 I g 5 A W B Iue ara A o ¥ @ A A wera F o SR v ey ok Siey, Nafenl HY oA T ® Wi % 37 TR $© YA AgaT @ 1 2 U7 SRR 9
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I TR g, =, 3fs, DS’ 3fd 3 I8 10 A H 31 75| U foF U5, IUD! 95 AHI SIS W 3(S Bl Xaa SR ITH T HR et 11 59 9= &t 397 4t & a8 Hl 91 WY, W A1 9 39 TR H 3R o
Ry 72 o oiR 98 & SR T & Ty AF 1 SAOR HRa1 61| HA I HX0H H1 301 ¢ e iR SuaT Jgv1 TR F TS I3 ITY oS F PR 1 @1 76 Wi 7, @ H 36 R foy w0 fam frw 3w
J I A1 4RAT T IR 7| Iut w5 eft Ynaht & T kel o, 9% SR P T Re TeReR T@red & TRl

Q.No: 50 J1qg ‘3 TR Fo W1 FreaT § 31 ? * I 3o Tk P A A @2

A S REarS 9H
B Fregams wdam
C Fromaras wdm

D TEYaraS GaTd

Correct Ans : A

Subject : Hindi Bhasha 01

Passage:

w9 e g MY Y ygaR g e U & e 3 ek 9t fased &1 9o Sifere-

# forg o # e R, 87 md sied 9gd TR I3 1 A T A I IR T Slel g=1, N g 3¢ WA A FH F1 N, W FE F o H Jren 5 97 wmag @ A iR S ugt i 98 $o @ aTed §
“FZ1” B oz | P, FII? O I <o o A g B ITHT 919 K o I ¥ A A Feran U 397 0 weg @R Sivey, Caiel B oA v ¥ Wi f 397 IR o Ui agar ? 2 Og iR 9
I94 f5R g, AL o, IS 1 o O Oft ara whe ® o T U fo TR, U@ 96 A ST R SIS @t Xad FAIaR I9H 91 2R e R 39 a1 9 oot A 1 a7 ot 91 R, WA A 30 TR F eaR o
Ry 7 o ok 93 9 IR @ & Ty A% 1 a9 a1 61| H7 I FAH BT 301 ¢ R 3R 3THT Tgv1 TN T TS I3T1 I 943 F PR Bt X1 e A 718, @ 77 I9% R foy a1 Ram) e 39
J ITH 1 WRAT TE o a1 IuT a5 el Tarelt F 17 2R R, SR I P B avg TeRER @i H 61 2R

Q.No: 51 3 & § Tga # SH-T1 TAN 2

A S{EIHIT N
B TGEY TN

c gl T
D %8 A

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

e D T e T Y ggaR g T WAl & a9 Sid ek A fAded Bl 79 Bifeig-

# o R 7 e R, 987 Wod Si1ed 9gd TR I8 @1 A T A I IR T Bel G, S WAE $¢ WA A HH ST N, W HA F o H I & 97 wmg @ i iR S 4pT i 98 $o @ 918l §
P17 TR SR F T, DI’ O S W [ A T B IuS! 919 7 o W ¥ N A Geran F R I9 o g iR S, ekt B o B B i i 3an IR 3o UM I § 91 ? 9% SR 9
IG f5R g, AL ofS, B’ o I Ol a1a WA H o T U@ o UEd, SHS! S5 A S R SiS Bl RIed TR IUH W1 4R W8 M 39 a1 3 geur @ 16 g o 91 R, AT A 398 TR H emaR o

Ry T o oIk 78 & iR H & T T BT SaOIR B 1| HY I HRA 1 37 R SR ST A1 TRV AF IoT| S 3 F AR P @M T Wi 7, A H 39 R’ 771 ) vy 3
J 3TN T R Y R fn1 St w5 Aelt el H I R o, @R I P Y R TeReR Wit H 71 R0

Q.No: 52 HgIaR1 e SFT-a1T ST &7 fe & & @ apef g2
A Feifhd F

B vifergr, Ffar of @

c ip-faga F% &

) rafd & B

Correct Ans : D

Subject : Hindi Bhasha 01

Passage:

= = Y e TR Y U g T UR & e I Sak 9t faded &1 9o Sifere-

T o R B g R, I8 A 31ed 9gd TR I B A TF A I IR T Sel a7, N g 3¢ Wa A FH F1 0, W FH F oman HY Jran 5 97 wre @ A ol S ypT i 98 $o @ a6l §
P HA ofwad § Pel, ‘BIg?’ o S <o b A Iy B SuS! a1 7 2 @ ¢ A A Gerdl & U 39 0 T 3R sien, efen)’ A o HA # G b 39 IR o N Uiedl € 9 ? 9 R &
I R g1, A, oS, FISI o) T O 91a WHE H o T 1 U o U, IS 96 1 I W SfS 31 e SIaR I 1 4R @ A1 39 923 o1 39T o F ag o 91 4R, AT A S8 T A emeR o
Ry 7 o ok 93 & IR @ & Ty A% BT Sa9IR e X6l HA IH BRI B3 < R 3R ST AT TR T TS I3T I 943 F PR Bl X1 T A 7, A H7 39 e fy w0 Ram v 3w
J I TR G TR fen1 It s Aelt el & 91 R o, IR I P Y e TeReR @it H 71 R0

Q.No: 53 19 'S St e WR 25 g A F R e # @ 0w wig &1 9o Fifve-

A g

B afrarE
C TgufaR
D CLiR

Correct Ans : C

Subject : Hindi Bhasha 01

Passage:

FE=: TR B UG I T U & TE IR IR A oo 1 9ue Pifere-
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 12/43
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B <lal D 1 gt

€ o Fef P el =)

TR T AT HIY =T

RASESCECECT
3T FR Jeard o,
Y TR T8 79 o
T FEd 9 M, 3R
A I 3T, Fel 9 ?

Q.No: 54 Jugjed dfekrdl # ‘farr ez 1 # J b oref & vrgert g 82
A Ao

B Eicnd
C SIFROT
D St

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

T HTeai B Ugehr IR T U & Tl SR IaR a1l fadbed BT 99 Siog-
BH a1 T gRA
§ 1 Tl el g =al
TR BT ST Y Tl
BH T 31 el el
3 TP e 3+,
3ifg &R T8 74 el
T PEA G T M, SR |
A A 3T, Hel = ?

Q.No: 55 Iudaq dfekal & g fre # & IR <l &1 s Fifore-

A T Y 3, Pei T ?
B ST TR Feard e
c 9 Y 991 g1 =

D & diarl @ @ g

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:
FER: PR B TgIR TP T TR & TE SR IR a1 faweq F1 797 SIT-
&1 A B T TR
ERIERHER U]
TR BT ST WY =l
REGUESEEHE]
3T TP e 3,
i SR 96 T |
e PE 8 TG T, R !
A 3T, Tl 9 ?

Q.No: 56 = % Y Iy &1 o 7 €7

A ]
B Y
C it
D YT

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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Aew: ST @) UgeH’ U@ MU UH & Jad 3T Ik a1d fddbeq &1 94 -
&1 Eaml @ T Ed
g ofSl el e gl <l
TR BT ST WY =l
LGSR
3T SR I 3,
g FR 8 To ot
e P 6 T Y, R !
A Y 3T, FEl 9 ?

Q.No: 57 fmfifed & ¥ e Wk &1 797 Piforg-

A S
B foag
c 3TFT
D Iq

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:
& ST B Uger 4P T U & Tl S IR a1l fadbeq BT 9e BIg-
W <Al 31 R gl
EEERHERERES]
TR P ST HY =TT
BASESCECECT
1T FTHY e 3,
g TR g6 T 3|
I FEd 1 WM, IR
A A 3T, Hel 9 2

Q.No: 58 Ti@ifad “$TR &I A1 Bl YU Hel o/ * B F T @ af @2

A IR 7 gl 3T & Pl 4@ B
B T 31 S

c TE T HAER A TG

D W | W H

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:
R TR FY YgaR Y T TRA B Y SR IaR a1 {9 BT TG BIoTe-
BH a1 T g
EEERHER KR
TR BT AT Y =W
Bk SESCERECT
3T TP oo 3+,
3G TR T8 T4 anhl
T PEA G WM, R !
qH B 1Y, Fel =Ta ?

Q.No: 59 19 "l &R d% TR & I7Y " & e v & | U <eq F1 997 Fifore-
A st

B et
C AR
D e

Correct Ans : D
Subject : Hindi Bhasha 01

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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Passage:

= FTeai $ UG I T U F T IR IR AW oo 1 9ge Pifere-

& Qo 3 71 gh

EEIERHER RG]

TR BT ST HY =T

R SESCEHECT
ST FTHY Ieard 3,
3i7g FHIR 75 Tq aftl
HE FEd ¢ G M, W
T 9 3, Fel =90t ?

Q.No: 60 Iy Ul & wafd e & § 3 32

A TR At
B o g
C HeTed aAf

D AR T

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 61 Which of the following is divisible by 12?
2461577

Fraffad 7 4 oF 12 9 Russ 82
312892

312892
643289

643289
1443612

1443612
236709

236709
Correct Ans : C

Subject : Mathematics

Q.No: 62 The difference between two integers is 5. Their product is 500. Find the numbers.

2467198

3 quiiel & o9 PT SR 5 §1 S7P1 TUHGA 500 31 LA J1d Hifo)

15, 20
A

15, 20

20, 25
B

20, 25

30, 25
c

30, 25

21, 26
D

21, 26

Correct Ans : B

Subject : Mathematics

Q.No: 63 The ratio of Mohan’s and Sohan'’s present age is 4 : 5. Twelve years hence this ratio becomes 5 : 6. What will be the age of Mohan (in years) after6 years?

2467211

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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g 3R g B IIAM Y FT UK 4 : 5 ¥ IRE I 916 g UM 5 ¢ 6 T 9 81 6 Y 1 Figw B g (auf F) @ gefe

a8
A

a8

54
B

54

60
c

60

66
D

66

Correct Ans : B

Subject : Mathematics

Q.No: 64 The ratio of Ramesh’s and Suresh’s present age is 9 : 4 presently. After 7 years the ratio becomes 5 : 3, then what is the age of Ramesh (in years) at present?
2467212

AT SR GO P GAHM 3G BT UG GAAF H 9 2 4 §1 7 9 91E ST 5 : 3 T 1l 8, & acidH & W P oy (auf H) 71 §2

18
A

18

8
B

8

25
C

25

15
D

15

Correct Ans : A

Subject : Mathematics

Q.No: 65 Present age of manish and Saroj is 34 years and 14 years respectively. After How many years will Manish’s age will be twice that of Saroj?
2467319

T SR RIS B R g FA: 34 7§ AR 14 99 B e o e v i arg WS Bt omg F SR 8 e

6 years
A

6

5 years
B

5T

8 years
C

sa¥

9 years
D

9Ty

Correct Ans : A

Subject : Mathematics

Q.No: 66 The sum of the ages after 6 years and 2 years ago is 64. Find the present age in years.
2467388

6 9 o1g quT 2 ¥ O B SR HT AT 64 §1 TN 1Y a6 F A Piforgl
A 30

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 16/43
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30

40
B

40

20
C

20

50
D

50

Correct Ans : A

Subject : Mathematics

Q.No: 67  The roots of the quadratic equation x2—x — 12 = 0 are:

2467690
WWUTXZ—X— 12=0 aﬂiﬁ%
4,-3
A
4,-3
-4,3
B
-4,3
-4,-3
c
-4,-3
4,3
D
4,3

Correct Ans : A

Subject : Mathematics

.No: 68 .
2467773 Find the value of 27%?2 2333 fora=_4

2/+2 . PN Hram g Piima=-4 3 A

2
3
A
3
3
&
2
B
3
2
1
C
1
_2
3
D
22
3

Correct Ans : B

Subject : Mathematics

.No: 69 . 2
(224607849 What is the value of %
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 17143
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O7° =G o e R 87

67 -32

1
A

1

10
B

10

99
C

99

35
D

35

Correct Ans : C

Subject : Mathematics

Q.No: 70 What should come in place of the question mark (?) in the following question?

2467871 s (133 .,
(5)*+5+(1)*
fArafafaa v & yeaaras fReg (7) & TAT W 347 77 Tnfge?
&P-@ _,
(5)2+5+ (1)
4
A
4
10
B
10
25
c
25
35
D
35

Correct Ans : A

Subject : Mathematics

Q.No: 71 What is the square root of 5329?

2467999
5329 &I I 1 32
73
A
73
13
B
13
81
C
81
84
D
84

Correct Ans : A
Subject : Mathematics

Q.No: 72 Solve for x:
2468296

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 18/43
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= ~ g t5 =0
x%ﬁ«maaﬁ
w:é 5x8-4+x;3_0
8
A
8
5
B
5
-8
C
-8
6
D
6

Correct Ans : A

Subject : Mathematics

Q.No: 73 Two numbers are in the ratio 3 : 5. If they differ by 12, what are the numbers?
2468370

< F@Y 3 : 5 F U H 8139 7 12 ¥ A €, & v & §2

18, 30
A

18, 30

15, 30
B

15, 30

18, 15
C

18, 15

3,5
D

3,5

Correct Ans : A

Subject : Mathematics

Q.No: 74 Which is not true about self-study?
2468434

-3/ F R H 791 9 N 32

It's mean learn by himself

A
! onf T g e g
It develops problem solving attitude in the students
B
g BT 3 T G R Refia S
It ensures regular progress of the student
C
Tg B @1 A T @1 giREd exar g
It does not help in developing the interest of the students in the subject
D

Tg v 3 ot 3 B PR 3 & Weg T I e

Correct Ans : D

Subject : Mathematics

Q.No: 75 The chapters in the NCERT text book of mathematics of Class-IV have titles like “The Junk Seller”, “Trip to Bhopal”, “The Way the World Looks". This shift has been done to
2468482
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FHET-1V Bt 0 DI NCERT UIST GRIH & T H 'g o R, U g Wiuer, 'q 9 ¢ 98 o’ S RIS &1 T8 sgald fdhar T g

challenge the students to guess the mathematical content in the chapters

A
BT @I IRt st wga wrel & S & g
make them understand differently
B
I e v W & i
make it interesting by relating it to everyday life
Cc
o 1 it & 58 e S e a1 F Rig
know about selling junk and travelling
D

PES 9 SR TE F IR H 79 S R

Correct Ans : C

Subject : Mathematics

Q.No: 76 Which one of the following statements is true with respect to mathematics learning?
2468515

Tftrg e & Oay A Faiifed ¥ § SH-w $0F 9 17

Generally girls are weaker in mathematics.

A
AR R AT M & FHAR Sl §
Everybody can learn mathematics.
B
RPE TR g T &
Mathematics can only be learnt by rigorous practice.
C
T e HOR T & Wi S Il §
Mathematics is a difficult subject to learn.
D

Tifor e & e v Hiea v &

Correct Ans : B

Subject : Mathematics

Q.No: 77  Find the value of (3x2 - 5x— 6) — (5x2 + 4x + 4).

2469942
(3x? = 5% — 6) — (5x2 + 4x + 4) T HM F1d DIFT|
—2x2-9x-10
A
-2x2-9x-10
2x7+9x+10
B
2x2+9x+10
-2x2-9x-2
C
-2%-9x-2
2x7+9x-2
D
2x1+9x -2

Correct Ans : A

Subject : Mathematics

Q.No: 78 Blue Print is prepared for
2475388
w1 fife JaR fpa @ -

teaching

g Hrf &g
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B planning for teaching

e Ft e 9 F g
preparing question paper
C
Y T R FX1 & g
D prgparing teaching adds

Correct Ans : C

Subject : Mathematics

Q.No: 79 when should introductory questions be asked?

2475899
IS Uy H9 G o F1fe?
at the beginning of the lesson
A e B e #
in midway
¢ fa
at the end
c o
D at every stage

WIRW
Correct Ans : A

Subject : Mathematics

Q.No: 80 Which two signs should be interchanged to make the given equation correct?
2479401
6+3+9-12x3=23

ferg g efieRr o & S & R A &1 foel o1 simo # sgan o anfew?

6+3+9-12x3=23

+ and x
A

= IR x

+ and -
B

+ 3R -

+ and x
C

+ R x

< and -
D

+ IR -

Correct Ans : A

Subject : Mathematics

Q.No: 81 Given interchanges: signs + and <+, and numbers 2 and 4; then the value of 12 + 4 x 2 + 3 -4 is
2481034

3T T FexA (S B geer): fE + R +, ARTBMN 23R 4; W12 +4x2+3-4FAAT

5
A

5

4
B

4

13
C

13

8
D

8

Correct Ans : C

Subject : Mathematics
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Q.No: 82 Knowing/ memorizing and recalling is concerned with

2481749
S / e 3G R T1E BRA BT HaY §
A Comprehension
B Application
c Knowledge
=
D Evaluation
T

Correct Ans : C

Subject : Mathematics

Q.No: 83 Of the following, the most unreliable predictor of educatlonal achievement is:

2481768 fyfifyd # 9, e Sualsy &1 a9 sifaywia yiwaa

inherited biological potential for learning
e & forg fomraa & fireht Sfaws eprar

ethnic origin of parents

wrar-fie it smia SaRy

family background and training

TrivaTRe gEyf Sik aiieor

classroom expriences

T B AT

Correct Ans : B

A

D

Subject : Mathematics

Q.No: 84 At what speed does a man walk, who passes through a distance of 1500 meter long in 3 minutes?

2481889 1500 Hiex 31 g8 I 3 firie # 09 FA & forg afda 1 =ra 1 e

25 Kmph

A 25 el o
20 kmph

® 20 f@ftofr e
15 kmph

¢ 15 R w2

D 30 kmph .
30 It wfa e

Correct Ans : D

Subject : Mathematics

Q.No: 85 Syllabus at primary level should be inclined towards—

2482309

i &R W UBTHH Bl 3R FH1d T AMMT-
A Course-content

UrSTHH FH

Social development

B

e R
C Exercises on comprehensive subjects

e et W snary
D All the aspects of child growth.

o1d RPN & Tt geq

Correct Ans : D

Subject : Mathematics

Q.No: 86 Effective teaching, by and large, is a function of
2482483

yrd Rigor, $or ey, g o €2

Teacher’s scholarship

R 1 g

Teacher’s honesty
° e 8 et

Teacher’s making students learn and understand
¢ e 1 SHI B S AR TG
D Teacher’s liking for the job of teaching

S HRI & R Riers 3t woig
Correct Ans : C
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Subject : Mathematics

Q.No: 87 To assess achievement at the end of instruction is -

2482524
3w & i A IJua B BT B8 -
Placement Assessment
A wHE T
Formative Assessment
® AP ST
Summative Assessment
¢ WRIRE geaiwd
D Diagnosti.c Assessment
qID

Correct Ans : C

Subject : Mathematics

Q.No: 88  In which question marking will be more reliable?

2482531
o wufag # oftw faywa geme
A Completion
|
Short answer
g e S
Multiple choice question
¢ TEABIUD Y
D Es;ay

Correct Ans : C

Subject : Mathematics

Q.No: 89 The number of score lying in a class interval is -
2482545 g if sjavra W oi! B WEw

A Mid point
ne fig

B Quartics

c Class

D Frequencies

Correct Ans : D

Subject : Mathematics

Q.No: 90 What is the difference between the place value of 7 and 5 in the number 2574?
2483822 w1 2574 § 7 3R 5 % WFE T § T 3R 3?2

-
S
. om
o 1

Correct Ans : A

Subject : Mathematics

Q.No: 91 Environmental studies can help us in:

2469432
IR T FARI AGE B Febdl ot
to exploit more resources of the environment
A
TR & it HEreEl 1 < TR
To explain the basic concept of food chain and web
B
T 4G 3R W Y Y STURON P} RS 3 7
environmental studies give the knowledge about the habit of humans and animals
C

afeRr e A SR SFeR] Y Sed IR AT AT

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

23/43
Page - 23



D enable us to understand a way in which environment can impact our life

T 9 T & Wem ST § 6 waiaRur gAR e B 5 TR nIid o) 9l §

Correct Ans : D

Subject : Environmental Study

Q.No: 92  Which among the following are largest carnivorous that feed on tertiary consumers and are not eaten up by any other animal?
2469473

Fofifaa 3 4 917 Ted 92 TR § o gdiioe Sudiiadred & ¥ SR ol o SRR g1 e 9T o /2

First order consumers

A

TG H I SuHie

S d order cor S
B

T A S IUHIERT

Third Order consumers
C

R 1 & IoET

Fourth order consumers
D

4 w1 F ST

Correct Ans : D

Subject : Environmental Study

Q.No: 93 Solution of water crisis
2469772

Sl e BT FHIUM B-

Rain water harvesting

A
T ST TREUT
Artificial rain
B
Fiw auf
Natural rain
C
e auf
Harnessing of ground water
D

Y-S BT CIGE |
Correct Ans : A

Subject : Environmental Study

Q.No: 94 Which gas is present in biogas?

2470067
ST & P W A A &
Methane
A
Eioc
Oxygen
B
et
Smog vapours
C
T Ay
Thermal gas
D

i e

Correct Ans : A
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Subject : Environmental Study

Q.No: 95 OQut of the following which should not be the method while teaching social values among students?
2470311

fFrafafed # 9 H-3 AR faenfidl o e gl @ et 33 w9a 78 & afeue

By telling them about great personalities

A
I e AfRal & IR H Fame
By developing sense of discipline
B
SR Bt YT fIpRa e
By behaving ideally in front of the students
Cc
B & WA ey HTTR TS
By revising the topic
D

fawa &t JeraR
Correct Ans : C

Subject : Environmental Study

Q.No: 96 Which act, was passed in 1863 , which authorised the government to “prevent injury to and preserve buildings remarkable for their antiquity or for their historical or architect

2470687

1863 ® T 11 Siffvam uilka faar mar o1, form TR &1 yrhiar a1 396 i a1 RiIvd 5e & T Sewrara 3URd &1 9ie § g9 ofR TR St & o st fwar an

Act XIX
A
SffEm XIX
Act XX
B
SRR Xx
Act XXI
C
S Xx1
Act XI
D
S X1

Correct Ans : B

Subject : Environmental Study

Q.No: 97 Water of Bhakra Nangal Project is being used mainly for:
2471978

IGST 1T RIS & S &1 G810 § IuANT {3 o w1 §:

hydel power and irrigation

A
v fggd R Riw
Fish breeding and navigation
B
et worH SR AR
industrial use
C
e ST
Flood control
D

15 P
Correct Ans : A

Subject : Environmental Study

Q.No: 98 Koeppen’s system of classification of climates can be termed as;
2472197
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DI DI S & BN D] YOIl DI H-T S YHell 8;

Systematic

A

e

Genetic
B

TR

Empirical
[

CECEER)

Applied
D

Kl

Correct Ans : C

Subject : Environmental Study

Q.No: 99 Plants that take support and climb up are called?
2472548

TERT & 3R FHWR T a1at Nl g 82
Shrubs

IRt

Herbs

ESkc]

Creepers

ol

Climbers

¥

Correct Ans : D

Subject : Environmental Study

Q.No: 100 The severe level of dehydration in the body leads to-
2472728

R B MR T Y Fofeoro g9 R = A 71 8 9o -

Anemia
A
G B B
Haemophilia
B
Sl
Cardiovascular problem
C
Osteoporosis
D

Ry GRRaT
Correct Ans : C

Subject : Environmental Study

Q.No: 101 Natural vegetation refers to a plant community, which has grown naturally without human aid and has been left undisturbed by humans for a long time. This type of vegetatio

2473161

U fie aeafa & Teri U@ UIey e 9 , S AMd Serdl & O uiefaw w0 ¥ ieiia gen 8 ok de wmy § ogw! R o il anen & | fomn man §1 39 UeR @t aeafa

Exotic vegetation

fad=ht aafar
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Virgin vegetation

B
Far g
Natural vegetation
C
UIPpRi® aafa
Flowering vegetation
D

Gl B g

Correct Ans : B

Subject : Environmental Study

Q.No: 102 Who was the first Indian space scientist to be inducted in International Astronautics Federation (IAF) on 15 May 2016?

2473995
15 7% 2016 T Riga sfafke amh HeRiT (1AF) & Wiva €F a1 Ted YR S e S 92
Nilamber Pant
A
RIGICIRG]
K Sivan
B
& Ry
Udupi Ramachandra Rao
C
Igdt I 9
Sundaram Iyer
D

Fa=A 3ER
Correct Ans : C

Subject : Environmental Study

Q.No: 103 Which planet does not have rings around it?

2474239

T 3 1 7% § PR R ofR e Tl @2

Mercury
A

«

Jupiter
B

e

Saturn
C

RuH

Uranus
D

k)

Correct Ans : A

Subject : Environmental Study

Q.No: 104 Which of the following affects the boiling point of water?

2475717
frafafed # 4 $F ot F SuAie S gufad FRd 82
Solubility
A
Yerfteran
heat index
B
Y G
C air pressure
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TA1 T &9

acidic nature

Sfita Ui
Correct Ans : C

Subject : Environmental Study

Q.No: 105 soil is also known as regur and internationally as ‘tropical chernozems’.
2475852

&1 BT TR SR SHRPY TR R il Reoem & w9 H off ST S g

Mountain soil

A

RIS Tal

Laterite soil
B

ARG 7T

Black soil
[o

PRl 7t

Red soil
D

Rk

Correct Ans : C

Subject : Environmental Study

Q.No: 106 Which of the following is not an objective of National project on organic farming?

2475952
Pt 3 & S w1 SR At w g a3 S T 3
Facilitate organic farming
A
IF S B g
Encourage organic farming
B
S |t &Y g
Promote development of organic farming
C
Sfaw S<ft & fara & agrar &
Modernize organic farming
D

Sfae Gt BT SMYFBIHROT AT

Correct Ans : D

Subject : Environmental Study

Q.No: 107 Parmarth Niketan Ashram is situated in which city?

2476394
e e s e <R A R &2
Indore
A
w©R
Gwalior
B
R
Rishikesh
c
EARER
Ujjain
D
IS
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Correct Ans : C

Subject : Environmental Study

Q.No: 108 Which football player has won the highest number of Ballon d’Or?

2476518
ot il FaTE 3 T GaTa A6 el e 82
Cristanio Ronaldo
A
et st
Lional Messi
B
[SEERRIS
Neymar
C
TR
Ronaldinho
D
s

Correct Ans : B

Subject : Environmental Study

Q.No: 109 What is the length of an Olympic sized swimming pool?

2476537

e omeR ¥ Raftim g 1 arg fraeh Bk 82

25 metres
A

25 HfiR

50 metres
B

50 #fi®

80 metres
C

80 TR

100 metres
D

100 HeR

Correct Ans : B

Subject : Environmental Study

Q.No: 110 Which among the following stadiums are located in Gwalior?

2476586
Fafafe § & o1 @ Rfeay afrr # R g2
Nehru stadium
A
ow wfemm
Thakur Ranmat Singh Stadium
B
B1gR W fig Rieaw
Captain Roop Singh stadium
C
P w9 Rig ©feaw
Usha Raje stadium
D
I IS =feaw

Correct Ans : C

Subject : Environmental Study

Q.No: 111 Who among the following won the Padma Shri Award in the field of literature and education for the year 2021?
2476611
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FafaRyd ® 4 féea av 2021 & T Wied R Riem & & H 18 QRER Sffar?

Shri Raghunath Mohapatra

A
o g TR
Shri Dharma Narayan Barma
B
ot enf TRror Sl
Ms. Tulasi Munda
€
ot el s
Shri Gopal Chhotray
D

ot i SR

Correct Ans : B

Subject : Environmental Study

Q.No: 112 Wrestling is the national game of which country?

2476648
T g I T AP B 2
Jamaica
A
ST
Iran
B
KA
Japan
C
S
Malaysia
D
TR

Correct Ans : B

Subject : Environmental Study

Q.No: 113 Which of the following methods is:
2477180
(i) Helpful in small classes

(ii) Provide students recreation ?

fFafafaa § ¥ eF-3 Al
(i) B Ferel & TgEs §
(i) BT B FARSH e B 87

Reinforcement

Yediarur

Observational

SaHT

Role playing

yfireT fFafe

Experimental

RS

Correct Ans : C

Subject : Environmental Study

Q.No: 114 Observe the following statements carefully:
2477301

i. It helps to bring real-life situations in the classroom.
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ii. it helps to inculcate positive inter-relationships.

Which of the following scenarios are the above statements TRUE for?

FrafifEd Syl &1 o[ 9 <

(i) P& § arafde shad 3 Rufadl 1 @ i weg ol 1
(i) GPRIHD St ) RpRd B3 § Weg &l 2l
Fafafed 7 & g uResa & R SRis »uF 99 §2

Disciplinary actions from teacher

A
e Ft SRR FRATS
Encouraging group discussions
B
aferel @Y diefed FRA
Being extremely lenient
Cc
3 FER B
Silencing the students
D

B BT g9 BT
Correct Ans : B

Subject : Environmental Study

Q.No: 115 Which is the first reserve forest of India?

2477809
YRA 1 T501 RIEA 4 B9 91 82
Bandhavgarh National Park
A
SitETg I A
Kanha National Park
B
HIel G S
Jim Corbett National Park
C
fom ide wPg sam
Satpura National Park
D

TagST IE I
Correct Ans : D

Subject : Environmental Study

Q.No: 116 Sometimes the dust particles can become acidic. What is it known as?

2477874
T Y@ F P oeh @ WA €, o T T PEA 92
Moist deposition

A
1 g (ke Sfie)
Dry deposition

B
T RAT (F% i)
Warm deposition

C
T FéTor (and Seitefter)
Cool deposition

D

1 AT (g Susier)

Correct Ans : B

Subject : Environmental Study
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Q.No: 117 A union or Lonurbations Is called whats

2477939
FAR $ |9 S| 31 gl Il 82
Megalopolis
A
R
Suburban
B
ITFRE
Outskirt
C
ESEscd
Million City
D
i Rt

Correct Ans : A

Subject : Environmental Study

Q.No: 118 Which of the following resources is mined by strip mining on flat terrains and by underground mining?

2477998
o B | 5w IWem &1 T aHad yHm R U8t S (R A oR yftnta T (sievuds i) R faan S 82
Coal
A
Fraar
Petroleum
B
iR
Natural Gas
C
wiphe
Water
D
i

Correct Ans : A

Subject : Environmental Study

Q.No: 119 In which year did the Air (Prevention and Control of Pollution) Act come into force in India?

2478050

YRA | arg Wy PRIy Td A Sftfen $9 | ang gen ur?

1980
A

1980

1981
B

1981

1982
C

1982

1982
D

1983

Correct Ans : B

Subject : Environmental Study

Q.No: 120 Which energy is converted into electrical energy by a solar cell?
2478649

AR qa R 5 il Y Regd ol A Sl S Fabal 82

A Chemical energy
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NS Hott

Nuclear energy

B
fvaa el
Solar energy
C
BRI et
Magnetic energy
D

T Sl
Correct Ans : C

Subject : Environmental Study

Q.No: 121 Which one of the following is not a suitable formative assessment task?

2474314
Frafifad & 4 1 U6 Iugw TS BT TRP Tl 82
open-ended questions
A
I TS T
project
B
BISC
observation
(€]
SRl
ranking the students
D

EEikikical

Correct Ans : D

Subject : Child Developement

Q.No: 122 “I am primarily interested in thinking processes; I am a psychologist.”
2474387
e dR R H i ufra F SR A g U@ THAIG gl
Cognitive
A
LERIEcD
Learning
B
Rreror
Perception
Cc
SR (I
Personality
D
AT

Correct Ans : A

Subject : Child Developement

Q.No: 123 Making students members of a cleanliness community to motivate them for the same, reflects
2474478

et o e SEE ¥ vew I ¥ Ryl w1, S9 T A ¥ e SRa Feen ol S

socio-cultural conceptions of motivation

TRUT B ARG -Sieplas SR

B behavioristic approach to motivation
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YR & T SqagiRe efdeiun

humanistic approach to motivation

RN & R ArEdTEE TR

cognitive approach to motivation

RN & i S i
Correct Ans : A

Subject : Child Developement

Q.No: 124 Monica is 9 years old and has always done things independently. However, what her parents tend to find more bothersome is her total lack of concern about their approval or ¢
2474612 things she does. Monica appears

ST 9 W 3 § 3R I AR WeiA T A T {31 B, gaifes, I9F AI-fUa 31 < 91 31 R I areht @l B, 98 98 § 5 e o g1 e o arat i & forg 3ot wligfar @
fore ¥ elt 8. HifeT #1 afddaa F 947 Ye S 77

To have developed a healthy attachment to her parents.

A
3 ATaT-firr & Wi O o e e §
To have failed to develop an attachment to her parents
B
U T-fre & Wi e R Feo # fiva §
To be redefining her attachment with her parents.
C
S ATI-fAeT & Wy S T &Y R & afir
To be overly attached to her parents.
D

ST wTen-fireT ¥ St @ g
Correct Ans : B

Subject : Child Developement

Q.No: 125 Match and choose the pattern of motor control

2474673
Column 1 Column2
1. 210 3 months a. intimate the speed gesture of others
2. 4 to 5 months b. Reacts to the waming “no-no”
3. 6to 7 months c. Reacts differently to the scolding and smiling
4. 8 to 9 months d. Negativism is manifested
5. 12 months c. Candistinguish people from inanimate objects
6. 16 to 18 months f. The baby cooperates in number of routine activitics, suchas being dressed,
fed and bathed
7.22to 24 months a. babics differentiate between “friends and strangers™
AR fgau & et &1 firam &Y SR Iu@! 707 By
& 1 HIAA 2
1 2% 3 Ade 2. @0 &Y e gy waia wAs
2. A% sAGT b, AAEA & AT A “Ag-AEe
3. 6 7HEN c. s IR AFFA W 3w @ ¥ whakear &ar ¢
4. 8 9FERY 4. FAFERHATAT ars ¥ &
5. 127w c. fodife avgal & S & AW T FHAT @
6. 16¥ 18 AL £ Jodr &S g, T AR agny S fafae afafaiay &
HEE FAT &
7. 2% uAEw g ao "dral AT soafawl & fiT WA E
1-f, 2-h, 3-d, 4-¢, 5-c, 6-b, 7-a
A
1-f, 2-h, 3-d, 4-e, 5-c, 6-b, 7-a
1-e, 2-d, 3-f, 4-g, 5-b, 6-a, 7-¢c
B
1-e, 2-d, 3-f, 4-g, 5-b, 6-a, 7-c
1-e, 2-c, 3-g, 4-a, 5-b, 6-d, 7-f
C
1-e, 2-¢, 3-g, 4-a, 5-b, 6-d, 7-f
D 1-a, 2-g, 3-f, 4-e¢, 5-d, 6-c, 7-b
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1-a, 2-g, 3-f, 4-e, 5-d, 6-c, 7-b
Correct Ans : C

Subject : Child Developement

Q.No: 126 Regarding learners’ individual differences, the teacher should

2476207
Rienffel & saferma Fanal & dey 7, e &) w1 S Ay
solve the problems based on the deductive method
A
e vl & SMUR W wEwelt BT A
use algorithms most of the time
B
iR T TEReH BT SuhT B
provide facts to students to memorize
C
BN B ATE T & T T W
provide a variety of learning situations
D

fafia wer @t I ot fRufa wer &

Correct Ans : D

Subject : Child Developement

Q.No: 127 Which of the following pairs is not correctly matched?
2476371

Frafifad & 3 P-4 oS T gafid e 82

Identical Element Theory - Thorndike

UM O AN - USRS

Theory of Generalization -C. H. Judd

B

TRl Ft A - i, L gs

Theory of Formal Discipline - Kohler
Cc

NI AU $ @ - BlgR

Theory of Specific and General Elements - Spearman
D

Ry ok amTawE! Bt i - WA

Correct Ans : C

Subject : Child Developement

Q.No: 128 Which of the following is NOT the kind of learning that is being emphasized nowadays?

2476840
Frofafea 3 g veR @t fRian R sroea ik Te e s w81 82
Child centered learning
A
a1 i e
Teacher centeredness learning
B
e Hio Rren
Context specific learning
C
i fafrg e
Real life based learning
D
i e smenfea fRiem

Correct Ans : B

Subject : Child Developement

The teacher should:
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Q.No: 129

2476946
e &1 =i
Change the style of teaching if he or she feels like the current style is not working or the learners are not responding.
A
fRreyor 3t et w2, AR IV T ¥ R I Deht HI T AR W S A R o T IR R
Follow one strict mode of teaching no matter the circumstances.
B
Rreor & v T T 31 U B, e B +h aRRR S
Present the content with emotional overflow rather than logic.
C
Il P TF & T HaeAI SRIaTe 6 wgd #1
Make the classroom atmosphere pessimistic.
D

FET & ARV P FRIRIETE G |

Correct Ans : A

Subject : Child Developement

Q.No: 130 Learning is a process of continual adaptation to the

2476966
i) & forg PR argrer 1 v o §
Attitude
A
cu|
Environment
B
qreraYo
Evaluation
C
TeiH
Maturation
D

uRuear

Correct Ans : B

Subject : Child Developement

Q.No: 131 Children pick up values, attitudes etc. unconsciously from their teachers' behaviour as well. Learning of this kind is known as
2476999

T 3 et F aER ot e F v, R o B 7E0 B 1 39 UPR 1 Riam B F FY F S A 3
Affective learning
A
Turdl ifee
Concomitant learning
B
Tead ot
Discrimination learning
C
eur st
Psychomotor learning
D

TIRP ST
Correct Ans : B

Subject : Child Developement

Q.No: 132 In young adults, self-concept is influenced by
2477061

a1 TT H, MT-fFURN Y J1fae St &
A Self-Image
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w sl

Self Esteem

B

ST T

Both Self-Image and Self-Esteem
C

A-BR IR SHTH-THH ST

Neither Self-Image nor Self-Esteem
D

7 -3 3R 7 & S-wwH
Correct Ans : D

Subject : Child Developement

Q.No: 133 Which of the statements is correct?

2477457

Frafifed & § 31 w0 98 &2

Development is most rapid in the last few years of life
A

S ¥ ot 3o aut ¥ R aifte o S g

Development is most rapid in the first few years of life
B

SitaT & AR $o a9 # Rer vaite O g 3

Development is most rapid in the middle few years of life
(€]

e & 7o & o a6l & o™ Tais 3w aa e

None of the given options
D

g g fared # & @ T

Correct Ans : B

Subject : Child Developement

Q.No: 134 The moderately mentally retarded children have 1Q-

2477570

| AARIE w0 A He a=it § sy I §-

20 to 35
A

20935

40 to 55
B

40355

60 to 75
c

60 75

80 to 95
D

80395

Correct Ans : B

Subject : Child Developement

Q.No: 135 In how many types has Howard Becker (1966: 226-38) classified juvenile delinquency?
2477666

BITS IR (1966: 226-38) I fH=iR SR1Yy HY e wpRl # Fifepa favan &2

3
A

3
B 4
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6
C

6

8
D

8

Correct Ans : B

Subject : Child Developement

Q.No: 136 Which of the following studies has reflected that aggressive children are popular among their peers because aggression is associated with power and status?
2477686

PR § 3 fhg s 3 <z § 7 empme (WIRE) 98 A aidl & diu dielia € § w@ife smpmwmar wiwy ok Ruld 3 9t & 82

Pronk and Zimmer-Gembeck, 2010

A

Wi 3R RR-Swa®, 2010

De Bruyn and Vanden Boom, 2006
B

& g3 9iR 337 99, 2006

Vaillancourt and Hymel, 2006
C

TP IR FTFAT, 2006

Patterson, Capaldi and Bank, 1993
D

YeTwH, Pt AR ¥, 1993

Correct Ans : A

Subject : Child Developement

Q.No: 137 According to NCRB (National Crime Records Bureau) data of 2020, which of the following states has the highest number of juveniles in conflict with the law?
2477741

2020 ¥ .3 eR.E. (AT rRry RIS o) F ofidsl F oeR, Fufifed § J f&a U0 # S &1 Iwied F a1 BRI 31 e Jad e g2

West Bengal
A
e s
Odisha
B
EEi
Punjab
C
Yo
Madhya Pradesh
D

TR

Correct Ans : D

Subject : Child Developement

Q.No: 138 In inclusive education system, children do

2478102
R Rien wonedt 7, a9 Eack|
Better academically but not socially
A
e T I AT g wu ¥ 71
Better socially but not academically
B
HAIRE 9 | e A e wu F 7
Better academically and also socially
c
M SR TR = F HS e
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D Better neither academically nor socially

e 7 0 Ay T A SR 7 & wmiE T

Correct Ans : C

Subject : Child Developement

Q.No: 139 Which of the following is/are included in the term ‘Special Needs'?
2478217

i.Mild learning disabilities

ii.Severe cognitive disability

Choose the correct code

PR & & $1 RRY srazamant a1 seva Wes & e 8787
i) He ST faseriar

i) TR IS fawanmar

SHETECE

i) only

i) $ad

ii) only

i) $aq
Both i) and ii)

i) 3R i) S

Neither i) nor ii)

Td@i) T i)
Correct Ans : C

Subject : Child Developement

Q.No: 140 occurs when students take turns leading the class discussion. This method invites students to use their cultural viewpoints to express the instructional material in tF

2479050

9 2l 8 99 O IR-aR F He T4 BT A7 R 31 T8 ffY ST &1 Exners Il @Y o wied F oad S F U o ARpfad i 1 Iuhm FA F fore omifad wedt @

Reciprocal teaching

A
IRERE fRiefor
Cooperative teaching
B
TEHR] R
Authoritative teaching
C
RIS g
Permissive teaching
D

SEY g
Correct Ans : A

Subject : Child Developement

Q.No: 141 Which of the following was not among the three things discussed by Mahatma Gandhi for a proper training in education?
2479562

e # Sfer wivarr 3 g weren MR gR = @ S A Dl A A wE @ Pl 7§ T de

Heart
A

Bad

Talent
B

aferHT
C Mind
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Soul

ST
Correct Ans : B

Subject : Child Developement

Q.No: 142 Who among the following thinkers said “Education was not started for the children after birth, even before birth a mother was supposed to exercise properly, to ensure the he:

2479583
FrofafEa ¥ 3 59 AR 3 wg1 o1 "Ren 979 & 9. g0 & e gE 78 1 % 8, 579 3 15d 1 A 9 a2 F WRa B g 1§ R e 9 smam S Ay ur?
Plato
A
@i
Aristotle
B
SR¥,
John Dewey
C
it Rt
Rabindra Nath Tagore
D

fdtsT B1gR
Correct Ans : A

Subject : Child Developement

Q.No: 143 Which of the following sub-theory under the triarchic theory of intelligence reflects the traditional conceptualization of intelligence and relates more to the academic achieveme

2479832
S 31 By fisid & dga, Fafiid & 3 59 Iu-Risia & 750 3 3 IRuRS S/@uRoT &1 <1 § SR seTeite uaf ¥ ofie Jsfid 32
Contextual Sub-Theory
A
urife Iu-Rigia
Experimental Sub-Theory
B
WA 3u-Rigia
Componential Sub-Theory
C
Hee 9u-Rigia
Performance Sub-Theory
D

we=i 3u-Rgid
Correct Ans : C

Subject : Child Developement

Q.No: 144 What does a live model of observational learning mean?

2479879
Sl AT F Tofid Aisa &1 T o 37
It involves an actual person acting out.
A
T TG A 91N T ardide SR i g
It involves observing a person
B
T U SR P S@ie S Wi §
It involves living alone
C
T St e M §
It involves living with society
D

< w6 e it ¥
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Correct Ans : A

Subject : Child Developement

Q.No: 145 Which of the following factors of emotional development is greatly influenced by the of socio-cultural context?
2480083

1. Divorce Parents

II. Joint Family

III. Nuclear Family

Haees e & FEfifed 4 A PF W oRe gHie-aipiie Gadf § safie yyifdd g 82
. e Adl-fie
I1. ¥gad URaR
111, Thd IRaR

Both I and II are correct.

1 3R 11 G wt €

Both II and III are correct

11 3R 111 9 T ¥

Both I and III are correct

1 3R 111 T 9@ ¥

All I, IT and III are correct

TR I, 11 3R I T8 &

Correct Ans : D

Subject : Child Developement

Q.No: 146 Which type of learning-disabled children are provided with aids like an inclined desk, wide and raised line paper?
2480251

59 YR & fasai sr=l S Fob gU ST, A 3R I U AR TR T TEHS IUSH UM fbU &I 82

Dyspraxic
A

TREg 35w

Dyslexic
B

o7 35

Dyscalculic
C

TR SHe

Dysgraphic
D

I I

Correct Ans : A

Subject : Child Developement

Q.No: 147 Children with learning disability

2480645
Sfrm-Fdfar o 5=
are very active, but have a low I1Q
A
TEA BT B €, AP T A wm ki
are very wise and mature
B
g GRAM Tl IR T ¥
cannot learn anything
c
Fo o 76 dE TP
D struggle with some aspects of learning
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R F Fo el I g HRa §

Correct Ans : D

Subject : Child Developement

Q.No: 148 Second step of microteaching cycle is

2480788
&1 e I 1 g1 R0 8
Planning
A
o
feedback
B
wfrgfe
introduction
c
Ry
teaching
D
Rreyor

Correct Ans : D

Subject : Child Developement

Q.No: 149 In which factor children’s language development is depended?
2480850

o8 PRP  ai 3t W & faem Rk 32
Freedom of expression
A
f¥reafed P wdadl
Better schooling
B
e wget e
Co-education
C
wefRien
Technical education
D

eb-iiep] fRIem

Correct Ans : A

Subject : Child Developement

Q.No: 150 Writing are the examples of which skill?

2480901
A for IS T IR T2
Learning
A
ftrm
Hopping
B
i
Motor
C
e
Jumping
D
g

Correct Ans : C

Subject : Child Developement
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